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associated with depen: \ \; ted with dependent variables
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# Correlation Matrix
cor.matrix <- function(p1, p2, cor.value, dnames=NULL){
fullmat <- matrix(0.01, p1+p2, p1+p2)
if(p1=="1){
mat <- matrix(c(1), p1, p1)

telse if(p1==2){
mat <- matrix(c(1,2,2,1
telse if(p1==3){
mat <- matrix(c(1,2
telse if(p1==4){
mat <- matrix(c(1,2,
telse if(p1==5){ |
mat <- matrix(c(1,2/3,4 7.9,1.115.8,10,11,1), p1, p1)
telse{ .
stop("input error")
}
cmat <- 1/mat*co ;;'_
fullmat[1:p1, 1:p1]
diag(fullmat) <- 1

drrames F’r%ﬁf@%ﬁﬂﬁ WBIN3

output <- fulliat

ret“WW]Nﬂ‘mJ UA1AINYAY

# Generate Independent Variables
x.generate <- function(n, p1, p2, Mean=0, Var=1, cor.value, error=0.01, nloop=1,
prcorrect=0.7, cnames=NULL){

cmat <- cor.matrix(p1, p2, cor.value)

cholmat <- chol(cmat)



num <- new("list")
for(i in 1:nloop){
loopcount <- 0
while(loopcount<1){
num([i]] <- matrix(rnorm(n*(p1+p2), Mean, Var), n)
num([il] <- num[[i]]%*%cholmat

if((sum(abs(cor(num([i]])-cmat)<=error)/length(cholmat))>=prcorrect){

}

loopcount

}

colnames(num[[i]]‘)

}
output <- num

return(output)

# Calculate KMO (Kaiser-
kmo.test <- function(df)-

'y:',
{

cor.sqg <- cor(df)"

coreurfy Uﬂ“ﬂ 1l ET‘ﬁ%”’W”EJ’] na

library(c@rpcor)

F@or sumsq < mgﬁg rur;lf;])l] EI f] é}ﬂ

kmo <- cor.sumsg/(cor.sumsqg+pcor.sumsa)

return(kmo)

# Generate error term

e.generate <- function(n, Mean=0, Var=1, nloop=1, cnames=NULL){

93
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num <- new("list")
for(i in 1:nloop){
num([i]] <- as.matrix(rnorm(n, Mean, Var))
colnames(num([i]]) <- cnames
}
output <- num

return(output)

y.generate <- function(d
numtmp <- cbeta[ 1]+ ‘ (cbeta[-1]), 1, sum)

num <- datalist[[2]]+matrix(rep(numt ‘- datalist[[ )), nrow(datalist[[2]]))

colnames(num) <- nan v N »

output <- num

return(output)

# Transform data to big
y.dummy <- function(y ;=. 6
prob.dt <- pnorm(y. datg

sonat <A EWI?W BN

colnames(dum.dt) <- cnames

“ARTAIN TN NN INYAE

return(output)

# Rerange of two lists
relist2 <- function(list1, list2){
if(length(list1)==length(list2)){

data.list <- new("list")



for(i in 1:length(list1)){
data.list[[i]] <- new("list")
for(j in 1:2){
if(j=="1){
data.list[[II][[j]] <- list1[[i1]
telse{

data.list[[i]I[[j1] <- list2[[i]]

}
telse{

warning("length of t
}
output <- data.list

return(output)

# Rerange of three lists

L.

relist3 <- function(list1 list2;-4ist3)s
if(Iength(unique(Ien (li

l

data.list <- new( ||st

forw'ﬁwqwsmwmm

data.list[fi]] <- new("list")

TRTAIATUAMINYAE

data.list[[iTI[[j1] <- list1[[i1]
telse if(j==2){

data.list[[I]][[j]] <- list2[[i]]
telse{

data.list[[i]][[j]] <- list3[[i]]

u'
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}
telse{

warning("length of three data sets not same")
}
output <- data.list

return(output)

# Apply function cbind for u
cbind.list <- function(list1
listDt <- chind(list1[[1
output <- listDt

return(output)

# Calcutation y.est, prob.est, u a

multi.calc <- function(xylis
options(digits=20) &
P g \7
y.est <- xyllst[[B]][ﬂEy i
prob.y.est <- pnorm(y %st

i G oo

prob.y.est <- ifelse(prob.y.est==1, prob y.est- adjvalue prob.y. est
n <-
RRTRINIUNNINGIAE
for(i in 1:n){
ullil] <- as.vector(xylist[[1]][,i])*sqgrt(prob.y.est*(1-prob.y.est))
}
u <- matrix(unlist(u), nrow(xylist[[1]]), n, byrow=F)
<- (xylist[[2]]-prob.y.est)/sqrt(prob.y.est*(1-prob.y.est))+y.est

colnames(z) <-"z

96



#output section
output <- list(y.est, prob.y.est, u, z)
names(output) <- c("y.est","prob.y.est","u","z")

return(output)

# Calcutation mse at k value

msek.calc <- function(u.tr.u.mtr, .sq, k.const=0){

nr <- nrow(beta.u.mtr) - \ '
nc <- nrow(beta.u.mtr)/— - |
zero.mtr <- matrix(O,nr/v | '.
#Scalar matrix, diago 1
kscl.mtr.st <- zero.mtr
diag(kscl.mtr.st) <-
#Adjust U transpose y kU
u.tr.u.adj <- u.tr.u.mtr+kscl.mtr.st ?’r
uinv.mmult <- solve(u.tr.u.adj)s {" el

atemp <- eigen(u.tr.u.mtr)$values/( $values+k.const)”2
btemp <- t(beta.u #_-'—mﬂ-—s—l{t‘

avalue <- sum(atem

Ml
i
bvalue <- btemp%*%bgta .u.mtr

e Y QWEJWWW BInN3

output <- mseik

“““?T“W'Wmﬂ‘im UA1AINYAY

# Search k value

search.k <- function(u.tr.u.mtr, beta.u.mtr, sigma.sq, kint=0, d1st=100){
mse_kint <- 0
mse_k01 <-0

while(mse_kint>=mse_k01){



k01 <- kint+d1st

mse_kint <- msek.calc(u.tr.u.mtr, beta.u.mtr, sigma.sq, kint)
mse_k01 <- msek.calc(u.tr.u.mtr, beta.u.mtr, sigma.sq, k01)
if(mse_kint>=mse_k01){

kint <- kO1

}
output <- kint-d1st

return(output)

e

optimize.k <- function(u.t peta’l \\\ —O d1st=1, d2nd=0.01

AANS

d3rd=0.001){
kint1 <- search.k(u.tr.u. U
kint2 <- ifelse((kint1-d1st)<0, 0, kintt
#kint2 <- kint1-d st I ‘ 2
mse_kint<-0 : ﬁ;‘ \-f--‘
mse_k01 <-0 V

while(mse_kint>=m kO18&
k01 <- klnt2+d2nd

e ETA RN T RN

mse_k01 <:msek.calc(u.tr.u. mtr beta.u.mtr, S|gma sq, k01)

RTRIUAING A

}

kopt <- kint2

if(kopt!=kint1){
#Process A

kstop <- kopt-d2nd



k001 <- kopt
kaf01 <- k001+d3rd
mse_kaf01 <- 0
mse_k001 <-0
while(kaf01>=kstop&mse_k001>=mse_kaf01){
mse_k001 <- msek.calc(u.tr.u.mtr, beta.u.mtr, sigma.sq, k001)

mse_kaf01 <- msek.calc(u.tr.u.mtr, beta.u.mtr, sigma.sq, kaf01)

}
#Output Process A

kfinal <- k001 #Sto
telse{

#Process B
kbf01 <- kopt-d2nd
kOO1 <- kbf01+d3rd
mse_kbf01 <- 0
mse_k001 <- Op V —
while(k001>=kopt& i se_

mse_kbf01 <- ms%k .calc(u.tr.u.mtr, beta u.mtr, sigma.sq, kbf01)

e El”ﬂﬁa?fﬁf@mﬁ"“

#Update'kbf01 and k001

ﬁmOMﬂ‘iﬂJ UNIAINYAY

#Output Process B
kfinal <- kbf01 #Stop!!!

}
options(digits=7)



output <- kfinal

return(output)

# Initial Parameters
options(digits=20)
init.beta <- ¢(0.1,0,0)

x1stsec <- c("d1")
x2ndsec <- ¢("d2","d3")
uznames <- c("u1","u2","u
myformula <- formula(yd~
uzformula <- formula(2~
cprob.piont <- 0.5
simu.error <-0.05
# Correlation for gener
corr.x <-0.1
samsize <- 20
numloop <- 500

numseed <- 1

# Generate mdependent \éarlables

et EHARIY TN Y1) L)

xdata <- x.genefate(samsize, length( x1stseo Iength (x2ndsec),

AT SIMTOITING ﬂ El

#Calculate KMO

KMO_Calc <- unlist(lapply(xdata, FUN=kmo.test))

KMO <- as.data.frame(cbind(c(1:length(xdata)), KMO_Calc))
names(KMO) <- ¢("LOOP","KMQO")
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#Generate error term with normal distribution
error <- e.generate(samsize, 0, 1, numloop, cnames="e")

xerror <- relist2(xdata, error)

#Generate dependent variable from indepent variables and error term

y_beta <- lapply(xerror, FUN=y.generate, init.beta, "y")

#Transform dependent data from num o' bi '_ (0,1) scale
y_dum <- lapply(y_beta, FUN=y.dun &2
- ——

#Combine independent dat@®@nd‘dependent binary data together

#Fitting Generalized Linee
model <- new("list")
for(i in 1:numloop){

model[[i]] <- gim ata=xy[[i]])

}

beta <- Iapplyﬁfﬂ %Wﬂ%éﬁf\tﬂqﬂ@
AN INTIE I ING A

Xy_beta - relist3(xdata, y_dum, beta
uz <- lapply(xy_beta, FUN=multi.calc)

# Backward Elimination and Stepwise Regression
data_uz <- new("list")
bem_fitt <- new("list")

bem_coef <- new("list")
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bem_vars <- new("list")
u_trans_u <- new("list")
beta_est_u <- new("list")
sigma_sq <- new("list")
k <-new("list")
mtr <- new("list")

data_uz_add <- new("list")

hsw_fitt <- new("list")
hsw_coef <- new("list")

hsw_vars <- new("list")

bem_fitt[[i]] <- Im(uz ' dat [ #Fit regression model
bem_fitt[[i]] <- step(bem_fitt[[i]], directios = Hhackwa ‘ #Backward elimination
bem_coef[[i]] <- as.vecto ber- R[S cor #Coefficients in final model

bem_vars[[i]] <- names(bem: Gt %$ca #Variable in final model

-

Vi

#Hocking's Procedu

u_trans_z <- t(uz[[1]]$u.)%*%uz[[1]]$z

o O LTSI S W 2] 7] 5

beta_est_ul[[i]] <- solve(u_trans u[‘]] )%*%u trans _Z
1
AN ]ﬂjj’lﬁfﬁﬂﬁﬂ NYIRE
sigma_sq[[i]] <- t(z_adjusted)%*%z_adjusted/(nrow(uz[[1]1]$u)
-ncol(uz[[1]I$u)-1)
K[[i]] <- optimize.k(u_trans_u[[i]], beta_est_u[[i]],
sigma_sq([i]], kint=0, d1st=1, d2nd=0.01, d3rd=0.001)
mtr[[i]] <- matrix(0,NCol-1, NCol-1)
diag(mtr{[il]) <- sqrt(k[[i]])
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mtr[[i]] <- as.data.frame(cbind(mtr{[i]], rep(0, NCol-1)))
names(mtr{[i]]) <- uznames

data_uz_add[[i]] <- rbind(data_uz[[i]], mtr[[i]])

hsw_fitt[[i]] <- Im(uzformula, data=data_uz_add[[i]]) #Fit regression model
hsw_fitt[[i]] <- step(hsw_fitt[[i]], direction="both") #Stepwise regression
hsw_coef[[i]] <- as.vector(hsw_fitt[[i]]$coefficients) #Coefficients in final model

hsw_vars[[i]] <- names(hsw_fitt[[i]]$coefficients) #Variable in final model

coef_hsw <- matrix(0,
for(i in 1:numloop){

vars_beml[i, ] <- ifelse(is.n ars([i1])), 0, 1)
vars_hsw[i, ] <- ifelse(is.n
coef_bemli, ] ‘v S rRatehtvait:

coef_hsw[i, ] <- hswe
}

comameswarsﬁw'%ﬁwﬂﬂ%’ NYINT

colnames(vars_Rsw) <- varT

R RTAI T NN INYA Y

oolnameq (coef_hs

#Matrix to Data Frame

vars_bem <- as.data.frame(vars_bem)
vars_hsw <- as.data.frame(vars_hsw)
coef_bem <- as.data.frame(coef_bem)

coef_hsw <- as.data.frame(coef_hsw)



#Export Output into Microsoft Excel
write.csv(vars_bem,paste("E:/X(",length(x1stsec),"," length(x2ndsec),
")_vars_bem_cor_",round(corr.x,2),".csv",sep=""), row.names=F)
write.csv(vars_hsw,paste("E:/X(",length(x1stsec),",",length(x2ndsec),
")_vars_hsw_cor_",round(corr.x,2),".csv",sep=""), row.names=F)

write.csv(coef_bem,paste("E:/X(",length(x1stsec),",",length(x2ndsec),

")_coef_bem_cor_",round(corr.x,2)," ‘ , row.names=F)

"_kmo_cor_",round(co

7
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